

07/11/2025

Vendor Ranking

Page 1 of 1

 Letting:
 04250711
 July 11, 2025 10:30 AM
 Call Order: 003
 Contract: E4Y10

 District:
 District 4
 Counties: DIST/ST-WIDE, INDIAN
 Fed Aid No: N/A

Contract Time: 730 AVAILABLE DAYS RIVER, MARTIN, ST Project(s): 42925265201 (*)

Contract Desc: TREASURE COAST PAVEMENT MARKING & SIGNING LUCIE

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	FLORIDA MOT, CORP	Responsive	Winning Bid	\$957,510.00	100.00%
2	NATIONAL TRAFFIC SOLUTION, INC	Responsive	Non-Winning Bid	\$970,374.49	101.34%
3	SOUTHWIDE INDUSTRIES, INC.	Responsive	Non-Winning Bid	\$1,263,325.00	131.94%
4	AUM CONSTRUCTION INC.	Responsive	Non-Winning Bid	\$1,494,850.00	156.12%
5	SUPREME ROOFING & CONSTRUCTION, INC.	Responsive	Non-Winning Bid	\$1,763,350.00	184.16%
6	SIGNAL TECHNOLOGY AND INSTALLATION CORP.	Responsive	Non-Winning Bid	\$3,913,515.45	408.72%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED: BEGIN DATE: 08/05/25 BEGIN TIME: 10:30 AM

END DATE: 08/08/25 END TIME: 10:30 AM

NOTE: The award amount and contract performance bond shall be based on the Budget amount of \$600,000.00 and not the contractors bid total over the two (2) year term of the contract





Tabulation of Bids

Page 1 of 24

Letting:04250711July 11, 2025Call Order:003Contract:E4Y10District:District 4Counties:DIST/ST-WIDE, INDIANFed Aid No: N/A

Contract Time: 730 AVAILABLE DAYS RIVER, MARTIN, ST Project(s): 42925265201 (*)

Contract Descr: TREASURE COAST PAVEMENT MARKING & SIGNING LUCIE

The Improvements, implemented by individual Task Work Order(s)/Work Document(s) under this Contract, consist of, but are not limited to, signing and pavement markings throughout Martin, St. Lucie and Indian River Counties.

BUSINESS DEVELOPMENT INITIATIVE - Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at https://www.fdot.gov/equalopportunity/bdi.shtm.

For more information about bidding on BDI projects, please see the training guide located at https://www.fdot.gov/equalopportunity/bdi.shtm

Prequalification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at https://www.fdot.gov/equalopportunity/bdi.shtm

It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to SmallBusi-ness@dot.state.fl.us

Bidders must submit the BDI Reference Sheet (Form No. 275-000-02) with the bid unless bidder is prequalified in the project's major work type, per Rule 14-22, Florida Administrative Code.

Upload the completed BDI Reference Sheet (Form No. 275-000-02) as a zip file using the "File Attachment Upload" folder in the AASHTOWare Project Bids application.

BDI Reference Sheet may be found at https://www.fdot.gov/equalopportunity/bdi.shtm

Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashier s Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

WORK DRIVEN CONTRACT: The budgetary ceiling for this contract shall be One Million dollars (\$1,000,000.00) over the two (2) year term of the contract.

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guar-antee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Department's estimated quantities and the Contractor's bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed.

For this Contract in which specific sites are not identified at the time of letting, the Engineer will is-sue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days





Tabulation of Bids

Page 2 of 24

Letting: 04250711

July 11, 2025

Call Order: 003

Contract:

E4Y10

to complete the work

•.PERFORMANCE BOND: A Contract / Performance bond is required for this project.

•REQUIRED SUBMITTALS WITH BID:

-Form 275-000-02 Business Development Initiative Reference Sheet must be submitted with the bid.

-PROPOSAL BID GUARANTEE: Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashier's Check, the BDI Bid or Proposal Bond (Form No. 375-020-16) or the standard Bid or Proposal Bond form, Form No. 375-020-09).

PLEASE READ STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION FY 2025-26 (SECTION 7-13) FOR INSURANCE LIMITS.

Line No / Item ID Item Description		Quantity Units	(1) FLORIDA	MOT, CORP	(2) NATIONA SOLUTION		(3) SOUTHWIDI IN	
() indicates item is		00	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	: 0001 S	igning						
0005 0101 1 1 MOBILIZATION- FOI ORDER/PUSH BUT (DO NOT BID) 42929	TON CONTRACTS	(1.000) LS	100,000.00000	100,000.00	100,000.00000	100,000.00	100,000.00000	100,000.00
0010 0102 14 TRAFFIC CONTROL	. OFFICER	40.000 HR	100.00000	4,000.00	65.00000	2,600.00	90.00000	3,600.00
0015 0102 60 WORK ZONE SIGN		1,000.000 ED	2.00000	2,000.00	0.45000	450.00	1.00000	1,000.00
0020 0102 74 1 CHANNELIZING DE VP, DRUM, OR LCD		1,000.000 DI, ED	2.00000	2,000.00	0.45000	450.00	2.00000	2,000.00
0025 0102 74 8 CHANNELIZING DE LCD (LONGITUDINA DEVICE)			3.00000	1,500.00	8.50000	4,250.00	1.00000	500.00



Page 3 of 24

Florida Department of Transportation



Letting:	04250711	July 11, 2025	Ca	II Order: 003		Contract:	E4Y10	
Line No / I		rnate Quantity Units	(1) FLORIDA	MOT, CORP	(2) NATIONA SOLUTION			E INDUSTRIES,
	item is bid as Lump S	Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	CTION: 0001	Signing						
0030 0102 ARROW BOA ARROW PAN	RD / ADVANCE W	200.000 'ARNING ED	20.00000	4,000.00	9.50000	1,900.00	12.00000	2,400.00
0035 0102 PORTABLE C SIGN, TEMPO	HANGEABLE MES	120.000 SSAGE ED	25.00000	3,000.00	19.50000	2,340.00	50.00000	6,000.00
0040 0527 DETECTABLE		75.000 SF	45.00000	3,375.00	35.00000	2,625.00	50.00000	3,750.00
	S71 1 BLE STRIP SET-	8.000 EA	950.00000	7,600.00	900.0000	7,200.00	425.00000	3,400.00
SINGLE COLU) 1111 JMN GROUND SIG F&I GROUND MOU		550.00000	60,500.00	600.00000	66,000.00	800.00000	88,000.00
SINGLE COL) 1112 JMN GROUND SIG F&I GROUND MOU		1,800.00000	36,000.00	2,175.00000	43,500.00	1,900.00000	38,000.00
SINGLE COLU) 1113 JMN GROUND SIG F&I GROUND MOU		2,000.00000	6,000.00	1,750.00000	5,250.00	2,100.00000	6,300.00
SINGLE COLU ASSEMBLY, F) 1114 JMN GROUND SIG F&I GROUND MOU G AREA FOR BAC	JNT, 30.1+	2,250.00000	6,750.00	1,850.00000	5,550.00	2,100.00000	6,300.00



Page 4 of 24

Florida Department of Transportation



Letting:	042	250711	July 11, 2025	Cal	l Order: 003		Contract:	E4Y10	
	o / Item ID escription	Alternat	e Quantity Units	(1) FLORIDA	MOT, CORP	(2) NATIONA SOLUTION		• •	E INDUSTRIES, IC.
() indica	ates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
\$	SECTION:	0001	Signing						
SINGLE CO	700 1211 OLUMN GRO Y, F&I BARR N 12 SF		2.000 EA DUNT,	1,960.00000	3,920.00	2,150.00000	4,300.00	2,500.00000	5,000.00
SINGLE CO	700 1212 OLUMN GRO Y, F&I BARR SF		2.000 EA DUNT,	2,100.00000	4,200.00	2,250.00000	4,500.00	2,500.00000	5,000.00
SINGLE CO	700 1311 OLUMN GRO Y, F&I BARR N 12 SF		2.000 EA OUNT,	2,300.00000	4,600.00	2,500.00000	5,000.00	2,500.00000	5,000.00
SINGLE CO	700 1312 OLUMN GRO Y, F&I BARR SF		2.000 EA OUNT,	2,500.00000	5,000.00	2,500.00000	5,000.00	2,500.00000	5,000.00
SINGLE CO	700 1500 OLUMN GRO Y, RELOCAT		5.000 EA	250.00000	1,250.00	250.00000	1,250.00	300.00000	1,500.00
SINGLE CO	700 1600 OLUMN GRO Y, REMOVE	OUND SIGN	50.000 EA	20.00000	1,000.00	15.00000	750.00	25.00000	1,250.00
MULTI-CO	700 2111 LUMN GROU Y, F&I GROU SF		2.000 EA , LESS	5,000.00000	10,000.00	3,000.00000	6,000.00	3,800.00000	7,600.00
MULTI-CO	700 2114 DLUMN GROU Y, F&I GROU		2.000 EA , 30.1-	6,500.00000	13,000.00	5,700.00000	11,400.00	5,200.00000	10,400.00



Page 5 of 24

Florida Department of Transportation



Letting	j: 0425	50711	July 11, 2025	Cal	Il Order: 003		Contract:	E4Y10	
	No / Item ID Description	Alternat	e Quantity Units	(1) FLORIDA	MOT, CORP	(2) NATIONA SOLUTION			E INDUSTRIES, IC.
	icates item is bid as	s Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0	001	Signing						
MULTI-C	0700 2117 COLUMN GROUN BLY, F&I GROUN SF		2.000 EA 200.	8,000.00000	16,000.00	12,500.00000	25,000.00	18,000.00000	36,000.00
MULTI-C	0700 2500 COLUMN GROUN BLY, RELOCATE		4.000 EA	2,500.00000	10,000.00	3,300.00000	13,200.00	3,500.00000	14,000.00
MULTI-C	0700 2600 COLUMN GROUN BLY, REMOVE	ND SIGN	5.000 EA	1,000.00000	5,000.00	550.00000	2,750.00	1,200.00000	6,000.00
SIGN PA	0700 3101 NEL, FURNISH D MOUNT, UP T		10.000 EA	220.00000	2,200.00	200.00000	2,000.00	250.00000	2,500.00
SIGN PA	0700 3102 NEL, FURNISH D MOUNT, 12-20		5.000 EA	350.00000	1,750.00	475.00000	2,375.00	300.00000	1,500.00
SIGN PA	0700 3103 NEL, FURNISH D MOUNT, 21-30		3.000 EA	530.00000	1,590.00	500.00000	1,500.00	400.00000	1,200.00
	0700 3501 NEL, RELOCAT	E, UP TO 1	5.000 2 SF EA	150.00000	750.00	100.00000	500.00	40.00000	200.00
	0700 3502 NEL, RELOCAT	E, 12-20 SF	5.000 EA	150.00000	750.00	200.00000	1,000.00	40.00000	200.00



Page 6 of 24

Florida Department of Transportation



Letting	: 04250711	July 11, 2025	Cal	II Order: 003		Contract:	E4Y10		
	No / Item ID Alte Description	rnate Quantity Units	(1) FLORIDA	MOT, CORP	(2) NATIONAL TRAFFIC SOLUTION, INC			(3) SOUTHWIDE INDUSTRIES, INC.	
() indi	icates item is bid as Lump		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
	SECTION: 0001	Signing							
	0700 3601 NEL, REMOVE, UP TO	5.000 12 SF EA	25.00000	125.00	25.00000	125.00	40.00000	200.00	
	0700 3602 NEL, REMOVE, 12-20	5.000 SF EA	30.00000	150.00	25.00000	125.00	40.00000	200.00	
	0700 3603 NEL, REMOVE, 21-30	5.000 SF EA	45.00000	225.00	50.00000	250.00	40.00000	200.00	
	0700 3605 NEL, REMOVE, 51-100	5.000 SF EA	150.00000	750.00	375.00000	1,875.00	40.00000	200.00	
OVERHE	0700 4140 EAD STATIC SIGN STR H & INSTALL, OVERPA MOUNT		13,000.00000	26,000.00	10,500.00000	21,000.00	52,000.00000	104,000.00	
OVERHE	0700 4640 EAD STATIC SIGN STR E BRIDGE MOUNT	5.000 UCTURE, EA	4,500.00000	22,500.00	4,500.00000	22,500.00	6,000.00000	30,000.00	
RETROF	0700 13 12 REFLECTIVE SIGN STF H AND INSTALL, 2'	10.000 RIP- EA	125.00000	1,250.00	125.00000	1,250.00	90.00000	900.00	
RETROF	0700 13 15 REFLECTIVE SIGN STF H AND INSTALL, 5'	10.000 RIP- EA	125.00000	1,250.00	125.00000	1,250.00	100.00000	1,000.00	



Page 7 of 24

Florida Department of Transportation



11	Luby 44 2025	Call Orders 002	Contract: E4V10

Letting:	04250711 Jւ	ıly 11, 2025	Cal	II Order: 003		Contract:	E4Y10	
Line No / It		Quantity Units	(1) FLORIDA	MOT, CORP	(2) NATIONA SOLUTION			E INDUSTRIES, C.
() indicates i	item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001 S	igning						
ENHANCED H SOLAR POWE	142111 IIGHWAY SIGN ASSEME ERED, F&I GROUND EACON, UP TO 12 SF OF PANELS	•	8,500.00000	42,500.00	8,000.00000	40,000.00	17,000.00000	85,000.00
ENHANCED H SOLAR POWE	142131 IIGHWAY SIGN ASSEME ERED, F&I GROUND DS, UP TO 12 SF OF PANELS	4.000 BLY, EA	8,000.00000	32,000.00	7,500.00000	30,000.00	26,000.00000	104,000.00
ENHANCED H SOLAR POWE	142150 IIGHWAY SIGN ASSEME ERED, F&I GROUND ILIGHTED SIGN 12-20 S	•	12,000.00000	48,000.00	9,500.00000	38,000.00	19,000.00000	76,000.00
ENHANCED H SOLAR POWE MOUNT, W/HI	142151 IWY SIGN ASSEMBLY, ERED, F&I GROUND GHLIGHTED SIGN 12-20 SF OF STATIC PANELS		13,000.00000	52,000.00	9,500.00000	38,000.00	19,000.00000	76,000.00
PROFILED THERMOPLAS	17101 STIC,STANDARD- URFACES, WHITE,	2.000 GM	8,000.00000	16,000.00	16,490.00000	32,980.00	9,000.00000	18,000.00
0215 0704 TUBULAR MA	1 3 RKER, 36" WHITE POST	150.000 EA	200.00000	30,000.00	300.00000	45,000.00	150.00000	22,500.00
0220 0704 TUBULAR MA	1 4 RKER, 36" YELLOW PO	150.000 ST EA	200.00000	30,000.00	300.00000	45,000.00	150.00000	22,500.00



Page 8 of 24

Florida Department of Transportation



Lettin	g : 0	4250711	July 11, 2025	Ca	II Order: 003		Contract:	E4Y10	
	No / Item ID	Alterna	te Quantity Units	(1) FLORIDA	MOT, CORP	(2) NATIONA SOLUTION			E INDUSTRIES, IC.
() ind	dicates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Signing						
0225 OBJEC	0705 10 1 T MARKER, T	YPE 1	15.000 EA	250.00000	3,750.00	200.00000	3,000.00	150.00000	2,250.00
0230 OBJEC	0705 10 3 T MARKER, T	YPE 3	10.000 EA	250.00000	2,500.00	200.00000	2,000.00	150.00000	1,500.00
0235 OBJEC	0705 10 4 T MARKER, T	YPE 4	10.000 EA	250.00000	2,500.00	200.00000	2,000.00	150.00000	1,500.00
0240 DELINE	0705 11 1 EATOR, FLEXI	BLE TUBULA	200.000 R EA	100.00000	20,000.00	75.00000	15,000.00	40.00000	8,000.00
	0705 11 6 EATOR, REPLA STING BARRI		50.000 ATOR EA	100.00000	5,000.00	80.00000	4,000.00	40.00000	2,000.00
	0705 11 11 EATOR POST, LL ON EXISTIN		50.000 EA	85.00000	4,250.00	70.00000	3,500.00	40.00000	2,000.00
0255 RAISED	0706 1 3 DPAVEMENT	MARKER, TY	1,200.000 PE B EA	7.50000	9,000.00	8.00000	9,600.00	9.00000	10,800.00
	0706 1110 D PAVEMENT NALLY ILLUMI		200.000 PE F EA	480.00000	96,000.00	300.00000	60,000.00	600.00000	120,000.00
	0710 11290 ED PAVEMEN ⁻ ARD, YELLOV			10.00000	300.00	10.00000	300.00	3.00000	90.00



Page 9 of 24

Florida Department of Transportation



Lettin	g : 04	4250711	July 11, 2025	Ca	II Order: 003		Contract:	E4Y10	
	No / Item ID	Alternate	Quantity Units	(1) FLORIDA	MOT, CORP	(2) NATIONA SOLUTI			E INDUSTRIES, IC.
	dicates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Signing						
0270	0711 11102		1.000	8,600.00000	8,600.00	8,999.49000	8,999.49	500.00000	500.00
SOLID,		TANDARD, WH RCHANGE AND							
0275	0711 11123		250.000	6.50000	1,625.00	7.00000	1,750.00	7.00000	1,750.00
SOLID,		TANDARD, WH SSWALK AND	ITE, LF						
0280	0711 11124		50.000	6.00000	300.00	4.00000	200.00	5.00000	250.00
	18" FOR DIAG	TANDARD, WH SONALS AND	ITE, LF						
0285	0711 11125		300.000	8.00000	2,400.00	6.00000	1,800.00	12.00000	3,600.00
	24" FOR STO	TANDARD, WH P LINE AND	ITE, LF						
0290	0711 11141		0.250	6,500.00000	1,625.00	6,500.00000	1,625.00	500.00000	125.00
2-4 DO		TANDARD, WH INE/ 6-10 GAP	ITE, GM						
0295	0711 11160		20.000	260.00000	5,200.00	250.00000	5,000.00	100.00000	2,000.00
	IOPLASTIC, S GE OR SYMB	TANDARD, WH OL	ITE, EA						
0300	0711 11170		25.000	130.00000	3,250.00	110.00000	2,750.00	175.00000	4,375.00
THERM ARROV		TANDARD, WH	ITE, EA						
0305	0711 11180		100.000	9.00000	900.00	5.00000	500.00	2.00000	200.00
THERM YIELD L		TANDARD, WH	ITE, LF						





Tabulation of Bids

Page 10 of 24

Letting	g : 0	4250711	July 11, 2025	Cal	l Order: 003		Contract:	E4Y10	
	No / Item ID Description	Alternat	e Quantity Units	(1) FLORIDA	MOT, CORP	(2) NATIONA SOLUTION			E INDUSTRIES, C.
() inc	dicates item is bi	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Signing						
		TANDARD, FOR DIAGON	100.000 LF AL	6.00000	600.00	5.00000	500.00	5.00000	500.00
YELLOV	0711 11241 OPLASTIC, S W, 2-4 DOTTE D EXTENSION	D GUIDE LINE	0.250 GM E/6-10	6,400.00000	1,600.00	6,500.00000	1,625.00	2,200.00000	550.00
	0711 12122 OPLASTIC, R SOLID, 8"	EFURBISHME	100.000 NT, LF	4.00000	400.00	4.00000	400.00	0.95000	95.00
WHITE,		EFURBISHME OR CROSS W		5.00000	500.00	4.00000	400.00	4.00000	400.00
	SOLID, 24" F	EFURBISHME OR STOP LINE		5.50000	550.00	4.00000	400.00	5.00000	500.00
0335 THERM MESSA		EFURBISH, W	5.000 HITE, EA	150.00000	750.00	4.00000	20.00	110.00000	550.00
0340 THERM ARROW		EFURBISH, W	5.000 HITE, EA	100.00000	500.00	200.00000	1,000.00	95.00000	475.00
	0711 14123 OPLASTIC, P SOLID, 12" F	REFORMED, FOR CROSSWA	700.000 LF ALK	14.00000	9,800.00	15.00000	10,500.00	10.00000	7,000.00





Tabulation of Bids

Page 11 of 24

Letting:	: 04	250711	July 11, 2025	Ca	II Order: 003		Contract:	E4Y10	
	No / Item ID Description	Alternate	Quantity Units	(1) FLORIDA	MOT, CORP	(2) NATIONA SOLUTION			E INDUSTRIES, IC.
	cates item is bid	as Lump Sum	5	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Signing						
THERMO	0711 14125 DPLASTIC, PR SOLID, 24" FC		2,500.000 LF ALK	20.00000	50,000.00	25.00000	62,500.00	23.00000	57,500.00
THERMO	0711 14160 DPLASTIC, PR MESSAGE	EFORMED,	10.000 EA	55.00000	550.00	650.00000	6,500.00	400.00000	4,000.00
	0711 14170 DPLASTIC, PR ARROW	EFORMED,	10.000 EA	225.00000	2,250.00	260.00000	2,600.00	300.00000	3,000.00
THERMO WHITE W	0711 14560 DPLASTIC, PR VITH BLACK C ETE PAVEMEN	CONTRAST O		850.00000	8,500.00	1,000.00000	10,000.00	2,000.00000	20,000.00
THERMO WHITE W	0711 14570 DPLASTIC, PR VITH BLACK C ON CONCRE	CONTRAST,	10.000 EA	750.00000	7,500.00	800.00000	8,000.00	650.00000	6,500.00
THERMO	0711 14660 DPLASTIC, PR ROUTE SHIEL		12.000 IULTI EA	5,000.00000	60,000.00	6,000.00000	72,000.00	5,200.00000	62,400.00
THERMO GRADED	0711 15131 DPLASTIC, ST. DASPHALT SU 10-30 SKIP OF	JRFACES, WI	HITE,	8,500.00000	850.00	10,000.00000	1,000.00	2,400.00000	240.00
THERMO GRADED	0711 15201 DPLASTIC, ST. DASPHALT SU , SOLID, 6"		0.250 EN GM	6,500.00000	1,625.00	6,500.00000	1,625.00	6,500.00000	1,625.00





Tabulation of Bids

Page 12 of 24

Letting:	04250711	July 11, 2025	Cal	II Order: 003		Contract:	E4Y10	
Line No / Iter		ite Quantity Units	(1) FLORIDA	MOT, CORP	(2) NATIONAL TRAFFIC SOLUTION, INC		(3) SOUTHWIDE INDUSTRIES, INC.	
() indicates ite	m is bid as Lump Sum	า	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ION: 0001	Signing						
	IC, STANDARD-OF	0.250 PEN GM	5,500.00000	1,375.00	6,500.00000	1,625.00	2,400.00000	600.00
0395 0711 10 THERMOPLAST SURFACES, WH	IC, STANDARD-O	0.250 THER GM	5,800.00000	1,450.00	6,500.00000	1,625.00	6,500.00000	1,625.00
SURFACES WH	IC, STANDARD-O		6,300.00000	1,575.00	6,500.00000	1,625.00	3,100.00000	775.00
	6201 TC, STANDARD-OT LLOW, SOLID, 6"	0.250 THER GM	5,800.00000	1,450.00	6,500.00000	1,625.00	6,500.00000	1,625.00
THERMOPLAST	IC, REMOVE EXIS		4.00000	18,000.00	3.73000	16,785.00	6.25000	28,125.00
	0001 Signing	Section Totals:		\$957,510.00		\$970,374.49		\$1,263,325.00
	Contract C	Grand Totals:		\$957,510.00		\$970,374.49		1,263,325.00





Tabulation of Bids

Page 13 of 24

Letting): 042507 ⁻	11 July	11, 2025	Cal	l Order: 003		Contract:	E4Y10	
	No / Item ID A Description	lternate	Quantity Units	(4) AUM CONST	RUCTION INC.	(5) SUPREME CONSTRUC		(6) SIGNAL T AND INSTALL	
() indi	icates item is bid as Lur	mp Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	Sigi	ning	_					
MOBILIZ ORDER/	0101 1 1 ZATION- FOR WORK PUSH BUTTON COI FBID) 42925265201		(1.000) LS	100,000.00000	100,000.00	100,000.00000	100,000.00	100,000.00000	100,000.00
	0102 14 C CONTROL OFFICE	ER	40.000 HR	85.00000	3,400.00	150.00000	6,000.00	138.64000	5,545.60
	0102 60 CONE SIGN		1,000.000 ED	0.35000	350.00	5.00000	5,000.00	1.73000	1,730.00
CHANNE	0102 74 1 ELIZING DEVICE- TY IM, OR LCD		1,000.000 , ED	0.35000	350.00	5.00000	5,000.00	0.87000	870.00
CHANNE	0102 74 8 ELIZING DEVICE- PE NGITUDINAL CHAN)		500.000 FD	0.25000	125.00	5.00000	2,500.00	0.44000	220.00
	0102 76 BOARD / ADVANCE PANEL	E WARNING	200.000 ED	18.00000	3,600.00	5.00000	1,000.00	43.19000	8,638.00
PORTAB	0102 99 BLE CHANGEABLE M EMPORARY	MESSAGE	120.000 ED	20.00000	2,400.00	5.00000	600.00	86.38000	10,365.60
	0527 2 ABLE WARNINGS		75.000 SF	45.00000	3,375.00	50.00000	3,750.00	168.55000	12,641.25





Tabulation of Bids

Page 14 of 24

Letting:	04250711	July 11, 2025	Cal	II Order: 003		Contract:	E4Y10	
Line No / Ite		ate Quantity Units	(4) AUM CONST	RUCTION INC.	(5) SUPREME CONSTRUC			ECHNOLOGY ATION CORP.
() indicates ite	m is bid as Lump Sur		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ION: 0001	Signing						
0045 0546 7 RAISED RUMBI PERMANENT		8.000 EA	1,200.00000	9,600.00	350.00000	2,800.00	5,182.77000	41,462.16
	I111 IN GROUND SIGN I GROUND MOUN		1,000.00000	110,000.00	2,100.00000	231,000.00	1,957.98000	215,377.80
	I112 IN GROUND SIGN I GROUND MOUN		2,500.00000	50,000.00	2,400.00000	48,000.00	2,409.74000	48,194.80
	I113 IN GROUND SIGN I GROUND MOUN'		3,000.00000	9,000.00	2,700.00000	8,100.00	3,558.21000	10,674.63
ASSEMBLY, F&	I114 IN GROUND SIGN I GROUND MOUN' AREA FOR BACK T	Γ, 30.1+	3,500.00000	10,500.00	3,000.00000	9,000.00	6,400.28000	19,200.84
	IN GROUND SIGN I BARRIER TOP-M		3,200.00000	6,400.00	3,400.00000	6,800.00	6,170.84000	12,341.68
	I212 IN GROUND SIGN I BARRIER TOP-M		3,250.00000	6,500.00	3,900.00000	7,800.00	6,356.42000	12,712.84





Tabulation of Bids

Page 15 of 24

Letting:	04	1250711	July 11, 2025	Cal	l Order: 003		Contract:	E4Y10	
Line No / I		Alterna	te Quantity Units	(4) AUM CONST	RUCTION INC.	(5) SUPREME CONSTRUC			ECHNOLOGY LATION CORP.
() indicates	item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	CTION:	0001	Signing						
0080 0700 SINGLE COLU ASSEMBLY, F LESS THAN 1	-&I BAR		2.000 EA OUNT,	3,750.00000	7,500.00	3,500.00000	7,000.00	7,813.77000	15,627.54
0085 0700 SINGLE COLU ASSEMBLY, F 12.0-20.0 SF			2.000 EA OUNT,	4,000.00000	8,000.00	4,000.00000	8,000.00	7,999.35000	15,998.70
0090 0700 SINGLE COLU ASSEMBLY, F			5.000 EA	500.00000	2,500.00	750.00000	3,750.00	718.68000	3,593.40
0095 0700 SINGLE COLU ASSEMBLY, F			50.000 EA	50.00000	2,500.00	224.00000	11,200.00	143.74000	7,187.00
0100 0700 MULTI-COLUI ASSEMBLY, F THAN 12 SF			2.000 EA , LESS	8,000.00000	16,000.00	4,200.00000	8,400.00	10,560.80000	21,121.60
0105 0700 MULTI-COLUI ASSEMBLY, F 50.0 SF			2.000 EA	8,500.00000	17,000.00	5,500.00000	11,000.00	19,685.22000	39,370.44
0110 0700 MULTI-COLUI ASSEMBLY, F 1-300.0 SF			2.000 EA	15,000.00000	30,000.00	15,000.00000	30,000.00	35,921.73000	71,843.46
0115 0700 MULTI-COLUI ASSEMBLY, F			4.000 EA	5,000.00000	20,000.00	3,900.00000	15,600.00	29,265.36000	117,061.44





Tabulation of Bids

Page 16 of 24

Letting:	: 04	1250711	July 11, 2025	Cal	II Order: 003		Contract:	E4Y10	
	No / Item ID Description	Alternat	e Quantity Units	(4) AUM CONST	RUCTION INC.	(5) SUPREME CONSTRUC			ECHNOLOGY LATION CORP.
() indic	cates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Signing						
MULTI-CO	0700 2600 OLUMN GRC LY, REMOVE		5.000 EA	1,000.00000	5,000.00	1,800.00000	9,000.00	3,593.39000	17,966.95
SIGN PAN	0700 3101 NEL, FURNIS MOUNT, UF	SH & INSTALL P TO 12 SF	10.000 EA	400.00000	4,000.00	450.00000	4,500.00	798.03000	7,980.30
SIGN PAN	0700 3102 NEL, FURNIS MOUNT, 12	SH & INSTALL -20 SF	5.000 EA	650.00000	3,250.00	780.00000	3,900.00	983.62000	4,918.10
SIGN PAN	0700 3103 NEL, FURNIS) MOUNT, 21	SH & INSTALL -30 SF	3.000 EA	1,500.00000	4,500.00	1,600.00000	4,800.00	1,223.38000	3,670.14
	0700 3501 NEL, RELOC	ATE, UP TO 1	5.000 2 SF EA	300.00000	1,500.00	350.00000	1,750.00	1,832.22000	9,161.10
	0700 3502 NEL, RELOC	ATE, 12 - 20 SI	5.000 EA	550.00000	2,750.00	450.00000	2,250.00	2,191.56000	10,957.80
	0700 3601 NEL, REMOV	'E, UP TO 12	5.000 SF EA	200.00000	1,000.00	200.00000	1,000.00	359.34000	1,796.70
	0700 3602 NEL, REMOV	′E, 12 - 20 SF	5.000 EA	250.00000	1,250.00	200.00000	1,000.00	539.01000	2,695.05
	0700 3603 NEL, REMOV	/E, 21 - 30 SF	5.000 EA	300.00000	1,500.00	200.00000	1,000.00	898.35000	4,491,75





Tabulation of Bids

Page 17 of 24

Letting	: 04250711	July 11, 2025	Ca	II Order: 003		Contract:	E4Y10	
	No / Item ID Alte	ernate Quantity Units	(4) AUM CONST	RUCTION INC.	(5) SUPREME CONSTRUC			ECHNOLOGY ATION CORP.
	cates item is bid as Lump		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	Signing						
	0700 3605 NEL, REMOVE, 51-10	5.000 0 SF EA	375.00000	1,875.00	450.00000	2,250.00	2,695.04000	13,475.20
OVERHE	0700 4140 EAD STATIC SIGN STF H & INSTALL, OVERPA MOUNT		22,000.00000	44,000.00	16,000.00000	32,000.00	23,161.79000	46,323.58
OVERHE	0700 4640 EAD STATIC SIGN STF E BRIDGE MOUNT	5.000 RUCTURE, EA	6,800.00000	34,000.00	5,500.00000	27,500.00	7,186.77000	35,933.85
RETROR	0700 13 12 REFLECTIVE SIGN STI H AND INSTALL, 2'	10.000 RIP- EA	200.00000	2,000.00	350.00000	3,500.00	550.36000	5,503.60
RETROR	0700 13 15 REFLECTIVE SIGN STI H AND INSTALL, 5'	10.000 RIP- EA	300.00000	3,000.00	500.00000	5,000.00	741.92000	7,419.20
ENHANC SOLAR F MOUNT,	0700142111 EED HIGHWAY SIGN A POWERED, F&I GROU W/BEACON, UP TO 1 SIGN PANELS	IND	22,000.00000	110,000.00	16,000.00000	80,000.00	19,034.41000	95,172.05
ENHANC SOLAR F MOUNT,	0700142131 CED HIGHWAY SIGN A POWERED, F&I GROU W/EDS, UP TO 12 SF SIGN PANELS	IND	25,000.00000	100,000.00	16,000.00000	64,000.00	27,940.57000	111,762.28





Tabulation of Bids

Page 18 of 24

Letting:	04250711	July 11, 2025	Cal	Order: 003		Contract:	E4Y10	
	lo / Item ID Alternate	e Quantity Units	(4) AUM CONST	RUCTION INC.	(5) SUPREME CONSTRUC			ECHNOLOGY LATION CORP.
() indica	ates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	Signing						
ENHANCE SOLAR PO	0700142150 ED HIGHWAY SIGN ASSEI OWERED, F&I GROUND HIGHLIGHTED SIGN 12-20	·	22,000.00000	88,000.00	18,000.00000	72,000.00	14,580.85000	58,323.40
ENHANCE SOLAR PO MOUNT, V	0700142151 ED HWY SIGN ASSEMBLY OWERED, F&I GROUND W/HIGHLIGHTED SIGN 12: D 12 SF OF STATIC PANEI	-20	25,000,00000	100,000.00	18,000.00000	72,000.00	15,479.20000	61,916.80
PROFILEI THERMOI	0701 17101 D PLASTIC,STANDARD- TE SURFACES, WHITE,	2.000 GM	17,000.00000	34,000.00	18,250.00000	36,500.00	21,954.20000	43,908.40
	0704 1 3 R MARKER, 36" WHITE PO	150.000 ST EA	280.00000	42,000.00	450.00000	67,500.00	438.81000	65,821.50
	0704 1 4 R MARKER, 36" YELLOW P	150.000 POST EA	280.00000	42,000.00	450.00000	67,500.00	438.81000	65,821.50
	0705 10 1 MARKER, TYPE 1	15.000 EA	350.00000	5,250.00	300.00000	4,500.00	381.46000	5,721.90
	0705 10 3 MARKER, TYPE 3	10.000 EA	350.00000	3,500.00	300.00000	3,000.00	480.28000	4,802.80
	0705 10 4 MARKER, TYPE 4	10.000 EA	350.00000	3,500.00	300.00000	3,000.00	417.39000	4,173.90





Tabulation of Bids

Page 19 of 24

Letting: 042	250711 Jul	y 11, 2025	Cal	l Order: 003		Contract:	E4Y10	
Line No / Item ID Item Description	Alternate	Quantity Units	(4) AUM CONST	RUCTION INC.	(5) SUPREME CONSTRUC			ECHNOLOGY ATION CORP.
() indicates item is bid a	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: (0001 Si	gning						
0240 0705 11 1 DELINEATOR, FLEXIBL	E TUBULAR	200.000 EA	140.00000	28,000.00	300.00000	60,000.00	399.94000	79,988.00
0245 0705 11 6 DELINEATOR, REPLAC ON EXISTING BARRIEF		50.000 EA	120.00000	6,000.00	300.00000	15,000.00	339.99000	16,999.50
0250 0705 11 11 DELINEATOR POST, FUINSTALL ON EXISTING		50.000 EA	120.00000	6,000.00	300.00000	15,000.00	310.63000	15,531.50
0255 0706 1 3 RAISED PAVEMENT MA	ARKER, TYPE B	1,200.000 EA	10.00000	12,000.00	18.00000	21,600.00	186.58000	223,896.00
0260 0706 1110 RAISED PAVEMENT MA INTERNALLY ILLUMINA		200.000 EA	480.00000	96,000.00	18.00000	3,600.00	1,129.85000	225,970.00
0265 0710 11290 PAINTED PAVEMENT I STANDARD, YELLOW,		30.000 SF	15.00000	450.00	300.00000	9,000.00	188.31000	5,649.30
0270 0711 11102 THERMOPLASTIC, STA SOLID, 8" FOR INTERC URBAN ISLAND		1.000 E, GM	14,000.00000	14,000.00	12,000.00000	12,000.00	14,000.39000	14,000.39
0275 0711 11123 THERMOPLASTIC, STA SOLID, 12" FOR CROSS ROUNDABOUT		250.000 E, LF	9.00000	2,250.00	21.00000	5,250.00	186.15000	46,537.50





Tabulation of Bids

Page 20 of 24

Letting:	04250711	July 1	1, 2025	Cal	l Order: 003		Contract:	E4Y10	
	o / Item ID Alt		uantity Units	(4) AUM CONST	RUCTION INC.	(5) SUPREME CONSTRUC			ECHNOLOGY LATION CORP.
() indicat	tes item is bid as Lump			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
S	SECTION: 0001	Signi	ng						
THERMOP	711 11124 PLASTIC, STANDAR ' FOR DIAGONALS IS		50.000 LF	12.00000	600.00	28.00000	1,400.00	189.44000	9,472.00
THERMOP	711 11125 PLASTIC, STANDAR I FOR STOP LINE A ALK	D, WHITE,	300.000 LF	13,00000	3,900.00	39.00000	11,700.00	192.63000	57,789.00
THERMOP	711 11141 PLASTIC, STANDAR ED GUIDELINE/ 6-10 DN, 6"		0.250 GM	10,000.00000	2,500.00	49,000.00000	12,250.00	5,362.48000	1,340.62
THERMOP	711 11160 PLASTIC, STANDAR : OR SYMBOL	D, WHITE,	20.000 EA	320,00000	6,400.00	700.00000	14,000.00	525.19000	10,503.80
	711 11170 PLASTIC, STANDAR	D, WHITE,	25.000 EA	150,00000	3,750.00	300.00000	7,500.00	395.62000	9,890.50
	711 11180 PLASTIC, STANDAR E		100.000 LF	12.00000	1,200.00	14.00000	1,400.00	196.95000	19,695.00
THERMOP	711 11224 PLASTIC, STANDAR SOLID, 18" FOR DIA RON	D,	100.000 LF	10,00000	1,000.00	24.00000	2,400.00	189.44000	18,944.00
THERMOP YELLOW, 2	711 11241 PLASTIC, STANDAR 2-4 DOTTED GUIDE EXTENSION LINE, 6	LINE /6-10	0.250 GM	10,000.00000	2,500.00	49,000.00000	12,250.00	5,362.48000	1,340.62



Page 21 of 24

Florida Department of Transportation



Lettin	g : 04	4250711	July 11, 2025	Cal	II Order: 003		Contract:	E4Y10	
	No / Item ID	Alternat	e Quantity Units	(4) AUM CONST	RUCTION INC.	(5) SUPREME CONSTRUC			ECHNOLOGY LATION CORP.
() in	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Signing						
	0711 12122 10PLASTIC, RI , SOLID, 8"	EFURBISHME	100.000 NT, LF	10.00000	1,000.00	21.00000	2,100.00	181.75000	18,175.00
WHITE	0711 12123 10PLASTIC, RI , SOLID, 12" FO UNDABOUT			12.00000	1,200.00	28.00000	2,800.00	183.99000	18,399.00
	0711 12125 10PLASTIC, RI , SOLID, 24" FO SWALK			13.00000	1,300.00	39.00000	3,900.00	188.31000	18,831.00
0335 THERM MESSA	0711 12160 10PLASTIC, RI NGE	EFURBISH, W	5.000 HITE, EA	250.00000	1,250.00	700.00000	3,500.00	352.44000	1,762.20
0340 THERM ARROV	0711 12170 10PLASTIC, RI VS	EFURBISH, W	5.000 HITE, EA	225.00000	1,125.00	300.00000	1,500.00	300.61000	1,503.05
	0711 14123 10PLASTIC, PI , SOLID, 12" F		700.000 LF ALK	24.00000	16,800.00	36.00000	25,200.00	195.22000	136,654.00
	0711 14125 10PLASTIC, PI , SOLID, 24" F		2,500.000 LF ALK	28.00000	70,000.00	52.00000	130,000.00	210.77000	526,925.00
	0711 14160 1OPLASTIC, PI , MESSAGE	REFORMED,	10.000 EA	750.00000	7,500.00	1,200.00000	12,000.00	1,043.47000	10,434.70



Page 22 of 24

Florida Department of Transportation



Letting:	04250711	July 11, 2025	Cal	II Order: 003		Contract:	E4Y10	
Line No		ate Quantity Units	(4) AUM CONST	RUCTION INC.	(5) SUPREME CONSTRUC			ECHNOLOGY ATION CORP.
() indicate	es item is bid as Lump Sun		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SI	ECTION: 0001	Signing						
	11 14170 LASTIC, PREFORMED, ROW	10.000 EA	350.00000	3,500.00	1,200.00000	12,000.00	957.09000	9,570.90
THERMOPL WHITE WIT	11 14560 ASTIC, PREFORMED, H BLACK CONTRAST (E PAVEMENT, MESSAC		1,500.00000	15,000.00	1,600.00000	16,000.00	2,339.16000	23,391.60
THERMOPL WHITE WIT	11 14570 .ASTIC, PREFORMED, H BLACK CONTRAST, I CONCRETE SURFAC		1,200.00000	12,000.00	1,200.00000	12,000.00	1,518.56000	15,185.60
THERMOPL	11 14660 .ASTIC, PREFORMED, UTE SHIELD	12.000 MULTI EA	7,000.00000	84,000.00	9,000.00000	108,000.00	4,930.54000	59,166.48
THERMOPL GRADED AS	11 15131 .ASTIC, STANDARD-OI SPHALT SURFACES, V :30 SKIP OR 3-9 LANE	NHITE,	12,000.00000	1,200.00	15,000.00000	1,500.00	3,096.10000	309.61
THERMOPL	11 15201 .ASTIC, STANDARD-OI SPHALT SURFACES, OLID, 6"	0.250 PEN GM	8,500.00000	2,125.00	15,000.00000	3,750.00	11,840.96000	2,960.24
THERMOPL	11 15231 .ASTIC, STANDARD-OI SPHALT SURFACES, KIP, 6"	0.250 PEN GM	8,000.00000	2,000.00	15,000.00000	3,750.00	3,095.88000	773.97





Tabulation of Bids

Page 23 of 24

Letting	: 0425	50711 Jul	y 11, 2025	Cal	II Order: 003		Contract:	E4Y10	
	No / Item ID Description	Alternate	Quantity Units	(4) AUM CONST	RUCTION INC.	(5) SUPREME CONSTRUC			ECHNOLOGY LATION CORP.
() indi	icates item is bid as	s Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0	001 Si	gning						
THERMO	0711 16101 DPLASTIC, STAN ES, WHITE, SO		0.250 R GM	8,500.00000	2,125.00	15,000.00000	3,750.00	9,681.44000	2,420.36
THERMO	0711 16133 DPLASTIC, STAN CES WHITE, SKII ACH TO TOLL PL ROP	P, 12" -	0.250 R GM	9,000.00000	2,250.00	15,000.00000	3,750.00	6,012.08000	1,503.02
THERMO	0711 16201 DPLASTIC, STAN ES, YELLOW, S		0.250 R GM	8,800.00000	2,200.00	15,000.00000	3,750.00	9,681.44000	2,420.36
THERMO	0711 17 1 DPLASTIC, REM DPLASTIC PAVE GS- SURFACE 1	MENT	4,500.000 S SF	5.50000	24,750.00	24,00000	108,000.00	183.13000	824,085.00
	0001	Signing Sect	ion Totals:		\$1,494,850.00		\$1,763,350.00		\$3,913,515.45
	С	ontract Gran	d Totals:		\$1,494,850.00		\$1,763,350.00		3,913,515.45



07/11/2025

Tabulation of Bids

Page 24 of 24

Letting: 04250711 July 11, 2025

Call Order: 003

Contract: E4Y10

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.